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In the current TR, the non-3GPP access Architecture is as illustrated on the figure below:
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Figure ‑1: Non-3GPP Access Architecture with an IWP - Chained case

As illustrated, it is not clear at this point if an S6b interface is needed, and in the positive case, where to locate it.

In the (normal) chained scenario with S2a/b, the S6b interface is used in particular to update the 3GPP AAA server with the PGW information. The 3GPP AAA server then uses SWx to update the HSS with this PGW information. Then, if the UE performs a handover to 3GPP access, the HSS will provide to the MME the P-GW which was used in Non-3GPP Access. This is the basic behaviour which allows inter-system mobility between Non-3GPP and 3GPP.

In the case of IWP, the PGW is GTP-based which implies that this S6b is normally not implemented in the PGW.

Thus, the issue is that to be able to support inter-system mobility between 3GPP and Non-3GPP in the IWP scenario an S6b interface is needed while a S8-GTP PGW normally does not implement it. 

To solve this issue, 3 approaches:

1. Declare that if an IWP is used, Intersystem mobility between 3GPP and Non-3GPP is not supported.

2. The S8-GTP PGW implements S6b.

3. The IWP implements S6b.

Discussion:

Approach #1: Can we accept to declare that Intersystem Mobility does not work?

Approach #2: This will contradict one of the working assumptions which is to not add functionalities on existing functional entities.

Approach #3: The IWP knows which PGW is used. However, it can be highlighted that S6b is not a roaming interface. This would restrict IWP location.
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